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Candidates must write the Code on the
title page of the answer-book.

o FUA G H A fh 38 THAH G GGa Y8 7 7 |

o TH-UF Ul g1 I AR U MU Hig TR A B IW-YFEdH  §E-98 W ford |
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o  THUIAT U T I TTEHT I[& A H UgSA, T 1 shilTeh 1999 oW |
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10.15 & foham SIT@m | 10.15 SIS & 10.30 9 A BT hadl YT i Tl 3
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e Please check that this question paper contains 7 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

HHATSTIAMEH
SOCIOLOGY

RgRa aq7 : 3 av2 S7ferHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80
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(iv) ¥o7 &I 15 - 21 TF d9-3H a1t J97 8 | I J97 & 4 376 5 | 599 @
Jcdeh Y97 7 I 80 ieg] & 37fer &7 787 &1 F115 |

(v)  ¥97 G&IT 22 - 25 a% 37 -3 Tt ¥97 8 | A% J97 & 6 3% 8 | 575
g Jcd%h Y97 &7 IR 200 Ieg] & 37 &7 T8 87 =TeT | F97 &I 25 FHT

I 13T T 3= & IR W 3T & |

General Instructions :
(i) There are 25 questions in all.
(it)  All questions are compulsory.

(iit) Questions no. 1 — 14 are short-answer type questions carrying 2 marks
each. Answer to each question should not exceed 30 words.

(iv) Questions no. 15 — 21 are long-answer type questions carrying 4 marks
each. Answer to each question should not exceed 80 words.

(v) Questions no. 22 - 25 are very long-answer type questions carrying
6 marks each. Answer to each question should not exceed 200 words.
Question no. 25 is to be answered on the basis of the passage given.

@usg <h
SECTION A

1. SYcasmelt St ol 1 7 § ? 2

What is the meaning of dominant caste ?

2. YN SRkl o Ifd A.TAH. 7 T ke »d foha 2 2
AYAT
T ITURT TR h Ihg i T8d 8¢ % SRR odl & | oy ? 2

In what ways have TNC’s adapted to Indian audience ?
OR

Cultural consumption shapes to a large extent the growth of cities. How ?
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3.  UUAIRIUT T BIdT § ? 2
What is commodification ?

4.  TREMI 3R FEHI % &= FAR FART | 2
Differentiate between peasants and farmers.

5.  3TEieRor 4 1-3TeniieRter ) forg Tehr Iftd femam 2 2

AAqAT
aRd 92 ufgenft fSrer o1 @ gume ust 2 2
How did industrialization lead to de-industrialisation ?
OR

What was the impact of western education on India ?

6. HANRNRERI H SWR i dEhfds &9 9 faftme ol & 5918 78 Fmiiie e
& &Y U <@ | 3T dfed 36 A 1 3ifaea fag Fifse | 2

Sociologists view market as social institutions that are constructed in
culturally specific way. Give examples to justify the statement.

7.  Tefoea favrem =1 omd w8 2 2
What is the meaning of digital divide ?

8.  TUR Hifga (SHEvsh mem) 3 unfivr R T & o ofiw I H fhE YR
qrer ? 2
How is mass media bridging the gap between rural and urban areas ?

9. gl <1 I8N g 9dtsy foh URUNeh 9 s¥a%T o fafie &9 ol Gfera fepam
T 2 TR 5 U i ¥ gt il i gEdrana o e R | 2
SDC]
B0 H W AR ToRa 91d (thin air) @ T97 AT <d 7; 89 UE1 $S IcaTied a1
Hd & o dqIel, FT A1 | | /AT 1 GehdT 7 | ToRa arq SHaw™ %
1E 2 3gTE0T I | 2

Give any two examples to state that various forms of traditional
knowledge systems have been preserved and passed on from one
generation to another.

OR
Most of us make our money from thin air; we produce nothing that can be
weighed, touched or easily measured. Give any two examples of ‘thin air
businesses’.
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10. CANSH Ieg W AT FAT THAA & ? 2
What do you understand by the term ‘Taylorism’ ?

11, g gt ST derTe S & | BT o aW H SIS EE 4 g8 ? 2
Why have areas such as Eastern UP and Telangana witnessed inter-caste
violence in recent years ?

12. 9RGl < fofu 31meHt & & |id &= 8 ? 2

HAYAT
TTHIOT TS § A9 GT Sh fHeRT TS | 2
What are the main sources of income for panchayats ?
OR
State the role of gram sabha in village society.

13. 3 qlhi 1 3g@ VT 8 g1 asf 8 Th-g8t 8 IS @ 2 | 2
Mention the ways in which the world is increasingly getting connected.

14. SR 376 W1 AAAS FT B ? 2

YA
“TIqaTel’ sgaEer 41 Bidl ® 2 2
What does the term ‘begar’ mean ?
OR
What is ‘Ryotwari’ system ?
g is g
SECTION B
15. T WRA™ TS A SRR i S TaT o § Alshd {HehT f9TS | ohdl ? 4
AYAT
AT HI & GRE TZ-TST Teh YTt TsHIdeh Ik o 9 T IAW |
SRS HIfT | 4

Independent Indian State played an active role in promoting
industrialization. How ?

OR

Nation-state became the dominant political form during the colonial
period. Explain.
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16.

17.

18.

19.

20.

21.
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MY IR T YA o a1 H 8% il ol IiehedT 31 off ?

Envisage Nehru’s vision of modern and prosperous India.

AT ° Uar = g b e gumn A uien fofay w9 § 9w S g
forear & wamsT |

AT
S 3 ST o1 T8I IS R 1 STeRawd drehd o Yfaud 3
fouer & fommd W Hfga 8 | 39 anfeamEt Y=l & <@ % HRUT W Tl
HIT |

Studies have shown that diverse family forms are found in different
societies. Elaborate.

OR
Many tribal identities today are centered on ideas of resistance and

opposition to the overwhelming force of the non-tribal world. Discuss the
factors behind the assertion of tribal identities today.

ISR o §TC WA H TH.TH. T H g4 dTel 9T W == shitolg |
Discuss the potential that FM stations have in post-liberalized India.

TG Sl TAYTHH L& T & ST =T8T, 2
T
AR ! TETST T Teh TTST IETE0 hel HHT AT Hehal B ?

Why should minorities be given constitutional protection ?
OR

How can India be considered a good example of a ‘nation-state’ ?

Soher] ST & HIEAH § Jind § Wl Y gt | 2

How does job recruitment takes place through the contractor system ?

TS 3 MewETeHiR 3 CHIHUEE WHIfE & wem 8§ TS geEH
T L T A hdl fomam 2

How do states try to establish national identities through assimilationist
and integrationist strategies ?
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SECTION C
22. IO AR % fI TR T qHEIET €6 Fi g ? 6
HAYAT
gRER =S wrRishA i d%aar 3R fawardr 1 fagasor KIS | 6
Why are cities a preferred destination for rural people ?

OR

Analyse the success and failure of the family planning programme.

23. TUH JTUNON o &9 H TEHARU I ATAHT HA Aol {o1od TRl A=
e | 6

arraT
ufgaiertor & fafte qaqgent i fae=mr Sifs | 6

Examine the different levels at which Sanskritzation has been criticized

as a concept.
OR

Discuss the various aspects of Westernization.

24, AT IMMGIe AR 3 3 ug== & Hei I ot 3 Hd & | U

ITE TR T8 HIRT | 6
HAAT

YT H G 3R T A1 ATGIEH] o s T8¢ a1 Giehd g | foe=m

SIS | 6

Environmental movements often also indicate to economic and identity
issues. Explain it by giving suitable example.
OR

In India it is difficult to make a clear distinction between the old and new
social movements. Explain.
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25. fdu e sg=sq @l ufey 3R A= fou g Wi % I A |

geNi 3R TR & e Sfas ot wiifes Tase o7adl o SR ST JE Tmen
W%ﬁﬁﬁﬁ@mﬂmuﬁﬁﬁﬁélmgwmsu |q{9|o|¢%5q|o|q\q
fogrHi 4 @8 ot <l feam 2 fop qewi ok fomi & &9 sremman wehfaes =&,
Sfesh Ao § | SETE % U, W i S wro A e 26 e Tg
e gl Yoh o Aok SIfthads Y2l X et sa-l »8 9t 9 =11 918 STl &
3R T & TR H 38 YW H hls T IW HaAdr & o i qwmei §
AR W et s aifaries Fufa &1 Sier fewm =i fierar 8 stan foepd
Tai foerar | <ifera o9 a1 ey 9 °@ g 8, Skl AR ¥ 3H
U o Oy § U Yearaqw deh g1 Sran g fob afe f@r 9f@mi st gigen
T 3R UTETes Ui ol ST § 94 o o0 Sfdes €9 & 3= off ar
O ATgaeia F9 (S8 ohid 1 ARR 9919 8idl o1 3R HEe™ 1 Qe 90
S oo ot ArgeRiE §) Afcdl 9% dhadE® &b 9ad & ? 3T SThHIhI
Wﬁﬁﬁﬁﬂﬁ%&ﬁﬁ%@ﬂﬁ%mﬁmwméﬁw
W 3 7989 4, 7eui q91 f&i o o= STHHmar i Sig Sifde SRl T8l 7 |
(1) St weg w1 AS TR ? 2
(9) Tadadr ¥ qd ufganeni i guHdr Ud ARl & 9y 6 THY H SARe
i | 4

Read the given passage and answer following questions :

Because of the obvious biological and physical differences between men
and women, gender inequality is often treated as natural. However,
despite appearances, scholars have shown that the inequalities between
men and women are social, rather than natural. For example, there are
no biological reasons that can explain why so few women are found in
positions of public power. Nor can nature explain why women generally
receive a smaller or no share in family property in most societies. But the
strongest argument comes from the societies that were different from the
‘normal’ or common pattern. If women were biologically unfit to be
inheritors and heads of families, how did matrilineal societies (as the
Nairs of Kerala used to be, and as the Khasis of Meghalaya still are)
work for centuries ? How have women managed to be successful farmers
and traders in so many African societies ? There is, in short, nothing
biological about the inequalities that mark the relations between women
and men.

(a)  Give the meaning of word ‘gender’.
(b)  Briefly explain the struggle for women’s equality and rights before

independence.
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